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Ve (£0) Glaie¥) Al S Al 2 -

Asdia (YA) plaia¥) du S Gladia 22e -

(il gise g8 (latia¥) A S Ciladia dde (e g ALY a5 e oS-

(e la EDE) HLEAY) (g ) -
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D Ay ciladdatl) o 131, ) (6 53

ALY ge anl Wi s ALY dadie o GlatieV) Al S dadie b6l gus 1 cilagletll §
Ala) 8 ead) J8 s 4 S5 (g J) el 18

I JS (o Jah Ban g dady LlaY) qiglhaall g ¢ ladd daa jia Al )

LA e aladiad aae 5 oo gyl 3 Galia )l alall g ¢ AU () Y1 Calall Al aasi
dalad dalall Al s 4ol daiadial) dal ) 8 caal i) Al o3 elils) xie
Go S elila) ¢ 5 ¢ Ll 3 GY) ga 83 gusall Claia (B ey JLSi ) (S Al
L a8 g Als)
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Base your answers on what you studied in | s Lo¥1355010 -2 Cew)s Lo s gid -2
Biology: P AGY) AN e con i

1- Choose only one question (A) or (B) and | (&) o (1) =13t dsmi 5t -
then write its scientific term: sdde JIAN alall allaael| SIS
A) Proteins that stop the virus’s Cilug el aolins aBys Sliigpm— |
multiplication as those that cause JLab ¥ Loy 155 5a0Y 1 g pd Sl
influenza and poliomyelitis. asdi S Olidg,d! Acgeme - o
B) Proteins play a role in the spatial DNA sg520 g2 1,801 puainty
organization of DNA within the nucleus. Blgdl gats
2- Show how to obtain: 3ue e Jgmand| (\Sas S sy - ¥
A number of planaria worms from one 3392 plebdniuly L)LY Sldaa (e
Worm? .dadd S g
2 AWwN pals

CIA 7 (VG o)l - A=alyol) dulinl) A
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3- Choose only one question (A) or (B) and
then mention the importance:

A) The posterior part of the skull (cerebral
part).
B) Pulling roots in corms and bulbs.

@3 (@) 91 (1) 1 3uad | |yt - ¥
1093 @9
FPCDUN (PR TEL (PSP [
Oile y 95T g JLeas¥1 LB BaLat ! jglmd |~

4- Choose only the right answer of the following:

The cells that regulate the degree of immune
response required to limit and discourage
after elimination the pathogen .........

(@) Helper T-cells.
@ Cytotoxic T-cells.
@ Suppressor T-cells.
@ Eosinophil.

3

o Lo dadh Aovonial) Aol Y1 s -

Bl ¥l da s el S LS
...... @2 sllacdl aomll dcliad!

e Leaad) 2SS LM
il | AL LAt

FURCRIPRIH VPR

O®OO

P E-VIEN (PP (R P VEN ]

W s
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5- Choose only one question (A) or (B) and | 2 (<) 9i (1) o3t i ytise) -0
then give reasons for: e
A) The gametophyte of Polypodium is @bl pum5all (o oviiiall Lt |
haploid. Saiicall e gasall
B) The testes lies outside the body in the | &® murd!@bs mimasdlsgny o
most of Mammalia. Sl plaas

6- How can scientists obtain a plant strains | ole Jsast! e s Lolatt (Sa3 a8 -1

do not need nitrogenous fertilizers? Bt (1 gLl ¥ AG LG OW M
S g o
4 AWwN pals
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7- If the ribonucleated sequence of mRNA as
the following:

SNAG 9:dS 90 9-0 ) 2L OIS 13) -V
s MRNA day i e

5\.....AUG — CCU — UGA — GCA — AUG — UAA ......3\

1*") Write the nucleotides sequence resulted
from the action of reverse transcriptase
enzyme on this sequence.

2") How many amino acids formed during
transcribed from this sequence?

Al S 9.8 g polis b_qsn:'yjn
el ol s Alelas (4o
Sl | il
A polex g1l sue @S Lol
L2l 14s e 55 e A gSat !

8- Illustrate by drawing only with complete | SULLLI 2US po dadd mu I mdg -A

labels the structure of the muscle fiber.

5

OLUON | (5B Adiaal) Aaladll ol 3

Al &b
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9- Look at the figure below then answer: 1ok Lee i @ GILUT IS (upa! -4
1*) What does no. (3) represent. S(¥) iy £ jondl Srey ke : ¥
2") How are the antigen-antibody com- ey (¥ diine (9S00 S <O

Salaqlt!
I Aeliadt dolaiiw ¥ g 90 Lo :CI1
3sliaell plun W1 g g Ao caliad

plex formed?

3Y) What is the type of immune response
which depends on the presence of
antibodies?

10-Choose only one question (A) or (B) and | @3 (&) 51 (1) o 13wt s 551 =N -
then write its scientific term: sdsde JIAN olalf allaaal) CGS)
A) A flower has (4) floral whorls, leaves JoLeS d pa) Olla e Zay i L1 8 ) - |
of each whorl alternate with that of the | dax=e!! 3Ll es Leia IS 3ol
next whorl. Al 5o

B) Single cells are adapted for direct
growth into complete plants.

8 il goidd 359500 B g LIS -
JalelS SlLa I

6 AN
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11- How can DNA hybridization be used to | g plasint ELiSey a8 -))
tell whether a particular gene is present | oo 2 a8t 8 G991 et

in its genome and in what amount? ol gione Jm13 (pmias (> 3929
S dlaS 9 (Aot
7 A s

CIA 7 (VG o)l - A=alyol) dulinl) A
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12-What would happen when:

Destruction of infected red blood cells
with merozoits of Plasmodium malaria.

13-Choose only the right answer of the
following:

The embryo has the ability to response
for stimulation during the ....... month of
pregnancy..

3o
"
6
g

®06E

14-What would happen when:

e A il GO Lo -\ Y
'Aew‘;").q;u_ﬂ‘a.\_”&lejs«;d.éj

SLyDMeTl pgan gD Ol gy g pras

Loo dadd Aovonall Al M ) -\ ¥
‘b

%@Y‘UJQEJM‘MM‘M

OO®OO

sie o 13le -V €

Binding of antibodies to the outer coats of | “ale ¥l ssliastlslawa ¥l dolcs)!

the viruses.

8

SOk g pal Ao 5laadd

Al &b
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15-Compare between the following: 1050 JS (i OB -V 0
The male and female genital system gty SSiet sl Slgont
(concerning: the function) o (30) OLud Y1 6B Eagell luliats

(et 11
Male genital system Female genital system
S LU lga! O L 3lga!

16-Choose only one question (A) or (B) @ () 9 (1) 13t i p230) -1 Y
and then illustrate by drawing: 1 dadd SBL JolS @y guid g

A)Germinated pollen grain. A Y A ]

B) Starting with zygospore explain the Slglad gy sgrusnaiily s o
stages the scalariform conjugation in s B edadl 1Y
Spirogyra.

9 W 5
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17-Look at the following figure then Loc cani @l YL JSEI (pyal =AY
answer: '
1) What is the type of joint between (1) S() (1) Ot ucndalf .55 L 351
and (3)? S Gl e G 13Le sLolS
2"y What would happen when absence the 3(Y) pds
structure no. (2)? e (1) by oo 0 Jeams (a8 < L1
3%) How can structure no. (2) be obtained s‘_,:_ "’ ‘m“’f “"‘“’“ -
its food and oxygen needed? s gl S il eal L sl
o . SSat ad)
4™y What is the importance of this structure
in figure?
10 A L5
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SLaliid) ooy (e St OLS 3] -V A

18-If you have gene carry the following
sy & d e A

sequences of DNA contains the following
sequence:

’3...TAC - TCC — TAC — TCC - ATT...5

Alcon g pccd ) aelgat! @L”J iy :’}'31

Answer the following:
#ouiatt MRNA s3> e

1*") Write the sequence of nitrogen bases on

transcribed mRNA from the previous Gl day p it (e
strand. 2l A W poles W ane LS5 Lol
MRNA ¢ aan 5 10

21d) Write the number of amino acids produced
from translated part of mRNA.

3) Count the number of tRNA types used in
this translation.

tocsiwetl LRNA 1551 sue o sty
Sies U1 dubes 3

19-Choose only one question (A) or (B) and | :dte @3 (&) 91 (1) 13l dmi yisf -4

then give reason for the following: Sanlend! Sy @kl izt (1)
A) The twinning of tendril around the 5oieall e yatesad i dasly 1 3525 ()
support in plants. Y AP ARl u—» '
B) Formation of the transverse links that Siiliaall
extended from the myosin filaments of
the muscle fiber.
11 A gals
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20-Choose only the right answer of the o oo daid Asvoual| Ayl ¥ il =Y

following: A il a1 pacls Lot Ly SLat!

The cells that destroy foreign bodies, and | a1 e aucat Lot (31 Jgoiig

change into phagocyte cells when needed

.............. WVERTRIN
is the......
(@) Mast cells. atan (1)
(b) Basophils. et (Q)
(©) Eosinophil. aasn (D)
@ Monocytes. RIPAL PNV @
21-Explain the following statement: 1o Lo _puuid =Y\

The endometrium enlarges after the

F VR Ll mang oo 1l miaty
fertilization of ovum.

Adsgdl olas] s e

22-What would happen after: s sy 13le - Y Y

The disappearance of nucleolus from the

’ 5193 Ola G LM (yo do gt slatsd
nucleus of eukaryotic cell?

12 Al Fa1Y)

CIA 7 (VG o)l - A=alyol) dulinl) A



LI 90 - (A 3ulad WI AR £ LT Yo VALY WY ol yAM) aladt - Aalat) A 9300 dhaat 51 ALEY Bl lonsial

23-Write the scientific term: ole JIAM melal) pllamel| LIS -YY
Binding antibody to more than one 1 AGY 3 Lat

microbe, this leads to the adhering of
microbes on the same antibody, this
makes them weaker and liable to be
engulfed by phagocytes.

8L d 193 sliaal | et | dolid )l Ao
oudd e Olyg )Seell peady g )Ss (3o
Mﬁ&@'jl@.&.ﬂbﬁ\.ﬁ.ﬁ:wu‘\ﬂ?ﬂ

Jaal 31 LRI IS (pe algit SIY

24-Mention the number of chromosomal | :ieJS 2 ddual Olegasadl sue jS31 -YE
sets in each of the following: Bl 593 B oSyl jyla i
A) Ookinete in life cycle of plasmodium L yShalf p gs393 s
(malaria parasite). S s A g3 el LS - Y
B) Secondary oocyte in the ovary. ol

25-Choose only one question (A) or (B) and 1@ (@) 91 (1) o3t i i YO
then compare between:

) ) . o 1B
A)Perforating protein & Lymphokines.

OLS ga0 g (ya598 st Sliig o - |
B) Cytotoxic T-cells (Tc) & Helper T- cells (T,). | Lstsr, atitan astn bt - o

Bt Lot LT

13 A s
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26-Mention the site and the function of the

following:

1) ACTH.
27 ADH.

10 JS Aaddgg HISe HSHY YT
ACTH .45
ADH .ot

The site st

The Function zaussn

ACTH

in

14

Al &b
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27-Look at the following figure, then answer ol @l Elalal (G JSENY (guyal - YV
the following: P AGY) AN e
1*Y) Write the labels nos. (1), (2) & (3). ()9 (V) (1) sobladt Cast < ¥ gl

2"Y) Write what the part no. (4) represents? | -(£) pdysint & s Lo coS1 L5

28- Choose only one question (A) or (B) @ () 9 (1) o3t i 3500 - YA

and then write its scientific term: rade JIAY1 elall allamelt CCS)

A) A curved bone binds to down ward Jually Jau¥ Sieid dwsde tebae (1)
and attached posteriorly to the centrum | Leisioys,2at! muos alsti (e
of vertebra and its transverse process. - el |

B) A continuous rotational movement of | *$> o2 pihsieticlnt (<)
the cytoplasm in one direction in the | ¢ 25k eIl S rsts 21598

plant cell. o1 g ol

15 W 5
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29-Choose only one question (A) or (B) and
then give an account on:

A) Interleukins.
B) The cork formation.

30- Choose only one question (A) or (B) and
then mention the site and the function.

A) The endosperm.
B) Embryonic membranes.

@3 (@) 9l (1) ot 3t s § piind - ¥4
143 Jguadaell La 43
ols 5 5 ¥ (1)
SOUal (52685 (<)

@ (@) 9 (1) o1 3uad | A | pisnt Yo
1 Aladd g9 A3ISe LCS

g ¥ (1)

edond ) Al Y ()

The site st

The Function zaes g

16

Al &b
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31- Choose only the right answer of the Lo dadd Aovouall A ala ¥ yid -1
following: ‘ol

PO SA S PRV [ IR ) JUTR

AL BPCTNLL [ SN [P S IPET

The second meiotic division in the

secondary oocyte of human female takes
place in the ........ .

.................. B Olus ¥
(@) Grafian follicle. Sl iless (1)
(® Endometrium. Rl (®
(© Fallopian tube. wslesd ()
(@ Uterine cavity. e ()

32- Give reason for: 19 Lo Yl Y'Y
The lymphocytes at the beginning they do | 548 1 Le? 0% ¥ duglaeslst LM
not have any immune ability. g 985 Gyl B uclie

33- What would happen if: s ke Gidong 13Le Y'Y

Growing tip of a plant is treated with the | ;i Le clar aceliniaeat astlas
mustard gas? S 3,
17 A s
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34-The figure below show a T. S. in the O i | @ (LSS (i pal - Y8
testis of a human male, look at it then D AGY ) Al
answer the following:

1) What would happen if the structure
no. (1) is absent? What is the
importance of structure no. (2)?

2") What does no. (3) point to? What is
the chromosomal number for no. (4)?

“4)

5(1) S0 L& 13 st 3L £ ]
§(Y) i S 0 Aol Lag

3(¥) dy dd| pedis 21 L s LOS
$(8) B0 ipuall uaal Lo

A3)

Oy

18 AN
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35- Compare between the following: 1 (L8 -YO
Alpha cells & Beta cells 1n islets of 53 Y 5 B Lo L Sl g LatT L S
Langerhans.

Alpha cells Beta calls
Lati Lo o LM

36- You have a mRNA carries the following | y—s>y MRNA i clowr-vn
sequence: o (v [P i {
N N
5....AUG - UAU - GUG —-AAU -ACC -UAA...3
The codons of amino acids were: EEIPER (CP DI L[ PYP {EA{ L
(LIS Aca I

Methionine | Tyrosine | Valine | Asparagine | Threenine | Glycine
O e Ot g 83 o2 O Dbl O—9 = Ot >

AUG UAU GUG AAU ACC GCG
Answer the following: FAGY A oo
1*Y) Write the anticodons on the tRNA to e Qg Slla m !

the previous sequence. . ;*L‘“’L:i:““i e
2"d) Write the sequence of amino acids in a o et S
: . . T I i) e Al
polypeptide chain translated from this | . 5,0, clegtey o
strand. Gl gt

19 A s
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37-Choose only one question (A) or (B) and | e (<) of (1) sdf5udt dsi st vy

then give reason for: P
A) Sexual reproduction may occur 292y b uiand) HIISIN @iy ud -
although the presence of one parent. dazd aslg 3,2
B) Using of coconut milk in tissue culture | =25 & 26152 O plasiat =
experiments. ¥ 2el)
20 Al Fa1Y)
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38-Choose only the right answer of the
following:

During the second infection with the
same pathogen the memory cells start
dividing quickly to produce large
amounts of the....................

Antibodies and the fixed macrophages.

Antibodies and the active T-cells.

Active T-cells and the major histocom-
patibility complex.

® 006

Active T-cells and the mast cells.

39-Write the number represents the
following:

1*%) Pairs of ribs connected to the sternum.
2 Foot and the ankle bones.

o) G151 (g a9 Al | &SN LS

Les Jadd dovouall Al 1yl -YA
yan

OAISH (puds po 20U Agalaadt £LST

Lo i 3581201 LS| @uudld (o oo |

B3 dcoald | LY g Baliael plus ¥

Al ASEY L3 g 5aliaed| plus 1

skl ! L g Aail | Al L

131 Las JS (e J1AT1 @B ,01 4831 Y4

(ol Aatany (huali il glializl951 ¥ gl
NSWE (P e PRRPE UL

21
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40-What are the results of:

Nuclei from toad embryonic cells at
different stages of development were

removed and transplanted into unfertilized R LA N
) Slga gl 30 Guw palaal Auaso jud
toad eggs whose nuclei had been removed.

1ole A0 Sl L oo Le -8 0
oD decadal! Winl LS (pe dagd ¥ A1)

Slangs 2 Lgie g gl 2alisne (o o

41-Write the scientific term: e e JIAN elall mllacmal| CGSY - £ )

|
Ao Liad | Ly ST it Agilsas 3150

Chemical substances recruit of large
circulating phagocyte cells which are
found 1n blood to sites of existence of

E290 923 ptl (o8 AS pnial | dcoal !
microbes in mature female?

OlagySeatt 3929

42-What would happen with:

s ke Gadoy 13La - £ Y
The increase secretion of testosterone
hormone from cortex of the adrenal
glands in mature female?

8,8 dal) At | Dol g gt 51,21 83005
Bl pal B A aSY BN 5 il (ye

fdmsly

22 Al Fa1Y)
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43-Choose only one question (A) or (B) and

103 (@) 9 (1) ool ) i ) - £V
then compare between the following:

100 IS Gy (12
A) Tonsils & Peyer’s patches.

B) The epidermal cells of the plant & the
cell wall (concerning: the definition).

b aag Oy st -
PZVES (ISR (P PPN [ IPTS

Ol (B 2 5 RelieS

CIA 7 (VG o)l - A=alyol) dulinl) A
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44-The following figure represents DNA
replication, then answer the following

question:
1%") The part (B) show......

DNA caclai ddes Jias L0 JSEI1 - £
W] P u&u::i p:v ey

ot DNA s -
a) Template strand of DNA. £t DNA sy o
b) Replicated DNA strand. el aulid -
¢) Promoter sequence. Brihia glad Brg0 ‘(’:’5‘“ kl;;‘ Hats
3(L) 51(b)
nd 1 1 .
209) z\glgi;l;ﬁ)gi(eliec;r?@ formed in the form | . AR o
‘ s(C) (B
3%) Which enzymes needed to build each
of (B & C)?
3 A
1T 17T T 1T 17T 17T T 1771
[ T I
D B ’
3
C E
/5 N A ) Y Y S IS I N |

24
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45-What is the role of each of the following: | :ceJS 4 psas gl o0 ,S1 -8 0

1*") Epididymis and prostate gland in 55 5B by 31 Buady Ol sl <Y
human male. Ok
Cald ped B Ao Wilg3ll Lol

2"9) Finger-like ends in funnel of fallopian
OLua ¥ 01 B Jegal! OLasy

tube and vagina folds in human female.

Al Cgl

25
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